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A. GRAMMAR POINTS

1. It indicating distance and How far/ How
2. should/ shouldn’t
3. connectors: although/ though and however
4. Yes/ No question
5. The present continuous
6. The simple future tense with “will”
7. Possessive pronouns
8. Articles: a/an/the
B.PHONETICS
l. Find the word which has different sound in the part underlined.
5. A painted B. parked C. watched D. stopped
6. A. plane B. safety C. traffic D. station
7. A. vehicle B. mention C. enter D. helicopter
8. A. maps B. papers C. cats D. books
9. A. pollution B. question C. education D. action
10. A. healthy B. ahead C. bread D. seatbelt

C.VOCABULARY & GRAMMAR
Question I: Choose the correct answer to complete each following sentence by circling A, B, C or D.

1.Nam used to morning exercise when he got up early.

A. did B. does C. doing D. do

2. My father the bus to work every day, but I cycle.

A. catches B. drives C. goes D. runs

3. 1 go to school bike.

A. by B. on C.in D. from

4. Traffic accidents can be prevented if people the rules.

A. remember B. obey C. go after D. take care of

5. You should look right and left when you go the road.

A. down B. across C.up D. along

6. Bus is the main public in Viet Nam.

A. travel B. tricycle C. transport D. vehicle
7. The play was so boring. , Hoa saw it from beginning to end.

A. Therefore B. Despite C. However D. Although

8. She’s sure that they will find the film .

A. entertaining B. entertain C. entertainment D. entertained
Q. being frightened by the images, Lan still liked the film so much.

A. In spite B. Despite C. Although D. Nevertheless
10. the story of the film was good, I didn’t like the acting.

A. Because B. Since C. As D. Although
11. The play was so boring. , An saw it from beginning to end.

A. Therefore B. Despite C. However D. Although
12. —“ Do you like seeing a film?” — ”?

A. No, I don’t like it at all B. Sure. What film shall we see?

C. Whoisin it? D. I’'m sorry, I can’t.

13. is La Tomatina celebrated? — Every August.

A. Where B. Why C. When D. Which
14. My father liked the of that singer.

A. perform B. performer C. performance D. performing




15. is not very far from here to the harbour.

A.There B. It C. This D.That

16.The boys home for lunch because they are planning to visit the hydro power station.

A. have not come B.donotcome  C. will not be coming D. is not coming

17.1t is going to rain any minute now. The children in the rain.

A. is being caught B. will be caught C. is caught D. are caught

18.They a test tomorrow; we don’t want to disturb them.

A. will be having B. will have C. have D. had

19.They that we have gone without telling them.

A. thought B. are thinking C. will be thinking D. think

20. The sun and the wind are other sources of energy.

A. alternative B. renewable C. non-renewable D. Nuclear

D.READING

I. Read the following text carefully and choose the correct answer A, B, C or D for each of the gap.
Ewan McGregor was (1) in Scotland in 1971. He decided to be an (2) when he was

only nine and he (3) his first film in 1992. So far in his career he has appeared (4) a lot of

different types of films, including comedies, musical, dramas and the Star Wars movies. In his career
Ewan has worked with like actresses Cameron Diaz and Nicole Kidman, and his films have won lots of

awards. He loves acting and when he finished (5) the musical, Moulin Rouge, he said, “I have
never been happier to do anything in my life”.

1. A. bear B. born C. bearing D. to bear

2. A. acting B. actress C. actor D. action

3. A. made B. played C. worked D. starred

4. A. at B.on C. with D.in

5. A. to film B. filmed C. film D. filming

I1. Read the passage and choose the best answer.

Yesterday, on the way home from school, | saw an accident. A boy was run over by a taxi when he
was riding his bicycle. The boy’s leg was broken and it was bleeding badly. Someone there tried to stop
the bleeding. They put pressure on it and held it tight. A man used his mobile phone to call the emergency
service. Some minutes later, an ambulance arrived and sent the boy to the hospital. Two policemen came
to the scene immediately. Some people told the police that the taxi was driving at a very high speed when
the accident happened. Some others began talking about the traffic accidents these days and blamed the
increasing number of accidents on the roads for careless driving and drunk drivers.

1. What did the writer see yesterday?

A. afire B. an accident C. afighting D. a crash

2. The accident happened between a taxi and................

A. abus B. acar C. abicycle D. a motorbike
3. The boy was sent to the hospital by................

A. apolice B. acar C. an ambulance D. a passenger
4. What part of his body was hurt? —His....................

A.arm B. leg C. head D. shoulder

5. How was the driver driving when the accident happened? — Very................

A. slowly B. fast C. carefully D. well

I11. Read the passage and decide if the statement is True or False.

In Britain, the climate is not very good. There are very few hot days and it rains a lot. Because of this,
people spend a lot of time at home. Generally, British homes have a lot of furniture in them, carpets on
the floors and heavy curtains.

Many houses in Britain are old. Many of them are over one hundred years old. Often, they do not have
enough insulation and the heat goes out through the windows, the doors and up the chimney.

Because of the climate, people in Britain have to send a lot of money on heating. Many houses have
special system called “central heating”. The heats all the rooms and, at the same time, heats the hot water.
Houses without central heating often have gas, electric or coal fires. The rooms in most British houses
are quite small.

New houses are much better. They have two layers of glass in the windows to stop the heat going out.

1. Why do British people spend a lot of time at home ?




A. Because the climate is not very good.  B. Because they don’t know where to go
C. Because the climate is very good. D. Because they want to stay at home

2. The heat goes out of the houses through
A. the windows , the doors and up the chimney B. the windows and up the chimney

C.thedoorsand  up the chimney D. the walls and up the chimney
3. Because of , people in Britain have to spend a lot of money on heating
A. cold weather B. cool weather
C. hot weather D. bad weather
4. Houses without central heating often have
A. only coal fires B. gas or coal fires
C. electric or coal fires D. gas, electric or coal fires.
5. New houses usually have in the windows to stop the heat going out.
A. only layer of glass B. two layers of glass
C. three layers of glass D. two or three layers of glass

IV. Read the passage and choose the correct answer A, B, Cor D.

Who are the best drivers? Which drivers are the safest on the roads? According to a recent survey,
young and inexperienced drivers are the most likely to have an accident. Older drivers are more careful.
Young men have the worst accident records of all. They often choose faster cars with bigger engines. One
of the most interesting facts in the survey is that passengers have an effect on the driver. When young
male drivers have their friends in the car, their driving become worse. When their wife or girlfriend is in
the car, however, their driving is better. But opposite is true for women. Their driving is more dangerous
when their husband or boyfriend is in the car.

1. According to the survey, who are the most likely to have an accident ?
A. Young and experienced drivers. B. Old and inexperienced drivers.
C. Young and old drivers. D. Young and inexperienced drivers.
2. Young men often chooSe .........o.oiuiiiiiiiiiiii e
A. expensive cars. B. fast cars with big engines.
C. slow cars with big engines. D. fast car with small engines.
3. Who have an effect on the driver ?
A. passengers B. policemen  C. children D. journalists.
4. When young male drivers have the wife of girlfriends in the car, their driving
becomes................

A. worse B. better C. slower D. faster
5. When their husband or boyfriend is in the car, women’s driving is.....

A. more careful B. better C. more dangerous D. faster
E.WRITING

I. Rewrite the sentences with the same meaning.

1. The distance from Ha Noi to Thanh Hoa City is about 100 kilometres.

- It is about.. .

2. Although Quang Hal -footballer IS SO young he plays football beautlfully ( HOWEVER)

3. What is the distance between Thanh Hoa and Ha Noi city?

D H OW far . ?
4. What is the distance between Vinh and Ha Noi city?
D HOW ?
6.They intend to buy a new motorbike.

They will

7 Are /what / Lan /going /and / Hoa / to /do ?(order the words to make question )

8.. Itis not a good idea for cyclists to use pedestrian zones. (should not)




